Al Ol &k
20159 = =& 1 3 JIEHSE3 A, SILSESH A G dAH)
2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
S Al 166,997,097 166,921,687 10,075,410 6.42%
ALY 138,751,550 129,925,490 8,826,060 6.79%
HWegs 23,220,850 21,971,500 1,249,350 5.69%
A =2S 5,024,697 5,024,697 0 0.00%
g}FES 64,613,825 61,613,825 3,000,000 4.87%
ootz - =2 64,613,825 61,613,825 3,000,000 4.87%
=32 109,096 109,096 0 0.00%
92 20 2= otd BEI(FEMNLSLES 109,096 109,096 0 0.00%
A
a=E30lY 2el 44,069,482 44,069,482 0 0.00%
e Y S3A(AFEBILEE 32,474,979 32,474,979 0 0.00%
3 A)
A AEEFEY HBAL(A=EBIIHEE 11,594,503 11,594,503 0 0.00%
3 A)
ot=5 el 20,185,247 17,185,247 3,000,000 17.46%
St=S A (Gt M ELESIH) 14,414,758 14,414,758 0 0.00%
HIIS™Mel (A H =Ml A8 2e S8 AH) 5,770,489 2,770,489 3,000,000 108.28%
Heas(st=m) 250,000 250,000 0 0.00%
Hees (ot ABELIA) (Gt AEEE 250,000 250,000 0 0.00%
3 A)
At = Xl 3,955,458 3,919,558 35,900 0.92%
Il=dged 3,955,458 3,919,558 35,900 0.92%
NASE SXXNE 3,915,458 3,879,558 35,900 0.93%
oz=0 N (A=S=0II2SE3H) 3,915,458 3,879,558 35,900 0.93%
Heags(2XXAH) 40,000 40,000 0 0.00%
SHNE(A=SHISELESAH) 40,000 40,000 0 0.00%
S ol 2=t 3,981,041 3,981,041 0 0.00%
sg-s& 3,981,041 3,981,041 0 0.00%
s Zd” La 2 dEd s |4 3,981,041 3,981,041 0 0.00%
SHEASXNIASLEIN (SHEASKNYASEY 3,981,041 3,981,041 0 0.00%
A
g - sA0Y 2,511,000 2,511,000 0 0.00%
MY .S e 2,511,000 2,511,000 0 0.00%
HuUX =5 t38 750,000 750,000 0 0.00%
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2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—
sSEE
LdEAFEHNSG X2 AY ESEJAH(LHAFH 750,000 750,000 0 0.00%
A XAMNSES S )
Hees(SEXXA) 1,761,000 1,761,000 0 0.00%
SBENE(s3HIELSA) 1,761,000 1,761,000 0 0.00%
=EHWS 2,926,154 2,926,154 0 0.00%
sns - =56 2,926,154 2,926,154 0 0.00%
=0 Belgt Clean Ws&d 24 2,589,527 2,589,527 0 0.00%
CARSMSSELIA(SARSMLELS ) 2,589,527 2,589,527 0 0.00%
HHSEMGL: 2Y 336,627 336,627 0 0.00%
CARNSMESELIA(SARSMLELS ) 336,627 336,627 0 0.00%
=ELXHNL 64,484,922 57,445,412 7,039,510 12.25%
KNS LAl 61,150,939 54,111,429 7,039,510 13.01%
S ADHE 138,912 138,912 0 0.00%
ZI0IZE SAAE ASEA(ZI0IEHZA 104,000 104,000 0 0.00%
HEIANLHEESA)
IBAIE RS SSLEIANOIBANERESELS 34,912 34,912 0 0.00%
A
S 40,688,500 40,937,850 N 249,350 N0.61%
SAMNLAL (SANESESBIAH) 40,688,500 40,937,850 A 249,350 A0.61%
=8 244 2 29 18,653,677 12,614,167 6,039,510 47.88%
SEANSSEI A (FHALSEE ) 18,653,677 12,614,167 6,039,510 47.88%
Heas (LA 249,350 0 249,350 =35
HEHAXNES(SAINLEESIA) 249,350 0 249,350 =35
Heas(Asn) 1,420,500 420,500 1,000,000 237.81%
SEANE (=AML EESH) 1,420,500 420,500 1,000,000 237.81%
e R ON| 3,333,983 3,333,983 0 0.00%
g MPEI xd 2 238 3,333,983 3,333,983 0 0.00%
s3HA SEIAH(SSHASESH) 659,735 659,735 0 0.00%
SHTEMNY SEIAN(SHEEAEELSA) 2,674,248 2,674,248 0 0.00%
JIEt 24,524,697 24,524,697 0 0.00%
JIE 24,524,697 24,524,697 0 0.00%
HE2LZH (LNSHF D) 62,646 62,646 0 0.00%
QH2IH(NSHEN)(ZANSAEEE S 62,646 62,646 0 0.00%
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